
<latexit sha1_base64="KlQW0HBOWBfsD7VSl4R3vFNimts="></latexit>

⇠i�1
<latexit sha1_base64="n8uV67UkFyRgddF0jeLF/9i3X+Q="></latexit>

⇠i
<latexit sha1_base64="YC4kauF64XKpC8McY8rE/xeitkM="></latexit>

⇠i+1
<latexit sha1_base64="ExGE50hqqGjpEyHJlKwf0vgz6Oo="></latexit>xi

<latexit sha1_base64="zh7e3lArYfsZq6X252O1sxZWEVI="></latexit>ai

<latexit sha1_base64="1n0Sq8lxWAVEcKKGHJSXmPP3/NY="></latexit>

F�
i = �Ti�1,i

<latexit sha1_base64="Cq4aH1Yg/OJhzKvplrKQMZn/W0U="></latexit>

F+
i = +Ti,i+1

<latexit sha1_base64="w7hKITmWhSfb6kw6Ift7WSoeQxY="></latexit>

Ti�1,i
<latexit sha1_base64="Cjb5/BL4TQm55rrJgLvhFIt4vL4="></latexit>

Ti,i+1
<latexit sha1_base64="dsP4rrWzTcSMbzN6IhLCfFN4xkU="></latexit>ai+1

<latexit sha1_base64="VHk5ZgG9sFarzKJ8bM7viSgzMwI="></latexit>ai�1


